Ubersicht Querschnitte BS-Holz und Duo-/Trio-Balken

BS-Holz
breite 8] 12 16 20 24 28 32 36 40
e 10/ 12 16 20 24 28 32 36 40
N 12| 12 16 20 24 28 32 36 40 44
-_— i 14| 12 16 20 24 28 32 36 40 44 48
:Io: o 16/ 12 16 20 24 28 32 36 40 44 48
' T 18 12 16 20 24 28 32 36 40 44 48 52 56 60 64
3 Hohe @ 2| 12 16 20 24 28 32 36 40 44 48 52 56 60 64
22| 12 16 20 24 28 32 36 40 44 48 52 56 60 64
24| 12 16 20 24 28 32 36 40 44 48 52 56 60 64
26| 12 16 20 24 28 32 36 40 44 48 52 56 60 64
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% LosgréRe 1, Lingen von 5 m bis 16,50 m
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LosgroRe 1, Linge 13 m




